Precalculus Spiral Review 9
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Due Friday 11.4
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Let f{x) = [x + 3)* and glx) = x + 4. Which

function represents the combined function

hix) = flx] + glx)?

A hx)=x*+7x+7

B hix)=x"+7x+ 13

C hix)=x*+x+ 13

D hix)=x"+2x+7
X+ 2

x—3x—10

is true?

Ly = . which statement

A The equations of the vertical asymptotes
are x = —2 and x = 5.

B There is a point of discontinuity in the
graph of the function at (—2. —%} and at
(5, 1).

€ Therangeis {x|x+# —2,5, x € R.

D The non-permissible values are x = —2
and x = 5.

The graph of a rational function has a
horizontal asymptote at v = 3, a vertical
asymptote at x = —2, and a y-intercept of
1. What is the equation of the function?
4

A v= + 3

B v= + 3

C v= =9 _ 2

D _'p'=

@ quadrant in which the angle 8 lies.
tan8 >0 and sin® <0
A) Quadrant ]
C) Quadrant I1l

B) Quadrant I
D) Quadrant IV

Use the fact that the trigonometric functions are
periodic to find the exact value of the expression.
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A point on the terminal side of angle 0 is given.
Find the exact value of the given trigonometric
7. function.

4) (12, 16); Find sin 8.
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Use the given values of the sine and cosine to find
the function value.
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Find the exact value of the requested trigonometric
9. function of 8.

9) t.nnﬂ=-—%andﬁinquadnntll
Find cos 8.
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10. Find the area of a triangle with the given side
lengths:

i néli.b=32.:=25
A) 177.99
C) 5280

B) 182
D) 3219.69



